H & 0l & AHS B Ml A

20258 =0ilah LEHSIH NIS210%k

M N2t

Hu: DE KYNE 2
[
=2o

olr XIYA NEsH (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
M2t 532,553 488,869 43,684
238t NN 1S 430,893 373,773 57,120
NEA Mg=E €4 430,893 373,773 57,120
KA S 3 158,275 152,929 5,346
201 B2 AY| 156,275 150,929 5,346
01 A=R2teld| 28,803 30,623 21,820
1eet=2| 28,803
2)KIEHAl 2ed T2 960
RIEERS 60,000& * 103 600
) KLAAR 120,000 *32H 360
2) I MH| 21,463
JNSEE HISE 852 *20,0000H 1,700
JNELE HEEE 95&*60, 0000H 5,700
JNELE U=sE 1502 *5,00004 750
XSFSAH AME XM
63,8003 *304&t At 1,914
3)SEHM(HE) 2XIA
71,5002 x204¢ At 1,430
NNLASAH ANZ XA
63,8003« 104t At 638
3)==AI2 XM 67,1003 «304t At 2,013
3ot 67,1003 «80&t Kt 5,368
JASKHA HE HHR(2IEH)
3903 +5,000A 1,950
LS HME 6,380
NNLNER EE S2Y
69,3002 *8 I A *73 3,881
NNYMER EE ZAH
8003 *1,500%*22] 2,400
ANLNER EL B
33,000 =34 9
02 SE==29| 127,472 120,306 7,166
NRER= 125,492
2)UBILEHZ 4303 *265,00021 113,950
2)SIIRE = 2,530&+3,400A 8,602
2)etss 2,1002*1,40024 2,940
N2 2Xtgs 23
165&%12,00021 1,980
203 AR F=&lY| 2,000 2,000
03 Al FRIHRFAIY| 2,000 2,000
NXYAN 2UES 2,000,000& 2,000
A Mg &3 173,374 168,436 4,938
201 LB-2AY| 164,074 159,136 4,938
01 AtR2elt] 49,824 48,883 936




SM: NS
Hu: DE KYNE 2
ool XA NYSE 24

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1) gh=2H 49,824
2)21 Al 43,344
JESEDXAM 95&+50,000% 4,750
) ME XA (1p) 953 8,000& * 122 9,120
) ME XA (2p)
593 *27,000&+ 12 19,116
AHEDXAM(2p) SLE S&
383 +8,00001* 12 3,648
AS HEAUE & A
67,1003 1004} Xt 6.710
2)JIEt Hi===2 4,800
3B +42 320, 00021 %1521 4,800
2)9iHs 2Uag 1,680
XN ZHUASIRE SHLe
70,0002 x3E *43] 840
XLA o3 2
70,0002 62 +23] 840
02 S3=4gHl 114,250 110,248 4,002
NRERS 108,805
2)gbeEs 4302 +245,000A 105,350
2)SII*E=E 2,530&*1,1004 2,783
2erss 2,1002x32024 672
N2t JLS 23 5,445
2)2HY EXNES 23
165&%13,00021 2,145
2IPIRE HIAZN 28 23
110&%30,00021 3,300
203 HR=H| 3,300 3,300
03 A=A PR 3,300 3,300
DXLA M2 2,300,000& 2,300
DXLA HAEas 1,000,000& 1,000
303 Zai= 6,000 6,000
01 2= 6,000 6,000
NHEE+Z43 6,000
21XEE 150,000,000 * 1% 1,500
22X & 60,000, 000& *3% 1,800
2)3xtH = 54,000, 0002 *5% 2,700
gHse g1 s 88,635 38,126 50,509
201 fer=3| 26,635 24,326 2,309
01 AtR2te|Hl 19,555 18,866 689
1) Bt=2H] 1,400
2)SX(0L)S M= 4002 +3,500& 1,400
1zelgal 17,73




SM: NS
Hu: DE KYNE 2
cr A
=2o

olr XIYA NEsH (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2)EXNHLSIAAE 2H FAES
9,814,180& %14 9,815
INETHE HXIAAE RS
3,960,000 =20+ 1= 7,920
nNeg+g 420
ETEME MRS 2H+E
70,0002 +6% 420
02 S3=gHl 7,080 5,460 1,620
NADIEE S 70,000 +7CH* 122 5,880
NHSEAXE MIISTHIS
50,0003 *2CH* 122 1,200
203 gF=4| 1,800 1,800
03 A=A =] 1,800 1,800
NI ES 1,800,000& 1,800
303 Z&a= 9,000 12,000 23,000
01 Za= 9,000 12,000 A3,000
NEH BEHSHME XS SXLAS
70,000,000 *10% 7,000
NEE TSINME R SXNESS
20,000,000 *10% 2,000
405 AHAHE S 51,200 0 51,200
01 AL =S F = 51,200 0 51,200
NESTAR It (HIIRH) 0k
51,200,000 1CH 51,200
NLASH(SEAS)ADHE £X 29 10,609 14,282 N\3,673
101 @12A4H| 8,234 10,657 N2,423
04 JIZtN2 2N S 2+ 8,234 10,657 A2,423
NXLASH ADER el S0
11,7793 x8A| 2+x26 2 +3H 7,351
NeEg=s 7,351,000 *12% 883
201 er23| 1,775 3,025 A1,250
01 At2teltl 1,775 3,025 1,250
NARd 2574l 220
2)SAREX 30,000 x2&F X} 60
2)AEAE 20,0002 6 H 120
2)EASH 4,000 * 10K 40
Nex= 1,555
2)PC+2LIE 60,0002 *6CH 360
2)SL2UH 25,0002 *30H 75
2)Z2le 40,000 ~6CH 240
2)ZElH Eu 30,000 +6H 180
2)EER 30,0002 90 270
QUIESZ o2 HHI(2ITIH)
100,000 *1CH 100




SM: NS
Hu: DE KYNE 2
ool XA NYSE 24

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AQUIESRIZ o2 HHI(3RII)
30,0002 *1CH 30
QUIESRZ o2 HHI(AE)
20,0002 *3H 60
DUEHD SXI(RE)
40,0002 62| & 240
203 HR=H] 600 600
03 A=A 2= 600 600
DXIXA ADHEH ARFE
600,000& 600
HH =S 3 101,660 115,096 13,436
Jl23HI(MIS21) 101,660 115,096 A13,436
JlE2ZHlI(NIS21) 101,660 115,096 A13,436
201 er23 | 65,432 64,360 1,072
01 At2t2ltl 65,432 64,360 1,072
NAIREE7E 10,0002 x33& *43] 1,320
NELAZE 72 3,448
2)ZeiZely 23 616,000 *3H 1,848
2)ZgH EU, E8 8
200,000 x4 CH =23 1,600
NAIRIDI |X2el 400
2)= A 100,000 »1CH*43] 400
NI1=2RFa SAMH|
9,000 *31& %2041 12 %90% 60,264
202 04| 31,248 45,69% A14,448
01 =LHO LI 31,248 45,6% N 14,448
NJl2geF=a ol
20,0003 x31E 142+ 122 x30% 31,248
203 AHR=H] 4,980 5,040 260
MU A2 LRFAI 4,980 5,040 260
1)302! 0I5 400,0002 12& 4,800
1)312! o1& It 5,0002+3&* 122 180




